
Number of the Week 
01100000 

𝟗𝟔 

XCVI 

𝟐𝟓 × 𝟑 12 Factors 𝟖 × 𝟏𝟐 

 
 

𝟏 × 𝟗𝟔 
𝟐 × 𝟒𝟖 
𝟑 × 𝟑𝟐 
𝟒 × 𝟐𝟒 
𝟔 × 𝟏𝟔 
𝟖 × 𝟏𝟐  

 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟗𝟔𝟐 = 𝟗𝟐𝟏𝟔 √𝟗𝟔 = 𝟒√𝟔 ≈ 𝟗. 𝟕𝟗𝟖 
  
 
 
𝟗𝟔 𝒉𝒐𝒖𝒓𝒔 = 𝟒 𝒅𝒂𝒚𝒔  

𝟗𝟔 𝒅𝒂𝒚𝒔 = 𝟏𝟑
𝟓

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟗𝟔 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟖 𝒚𝒆𝒂𝒓𝒔  

One leg of a Pythagorean triangle: 

 

𝟗𝟔𝟐 + 𝟐𝟒𝟕𝟐 = 𝟐𝟔𝟓𝟐 
 



Number of the Week 
01011010 

𝟗𝟎 

XC 

𝟐 × 𝟑𝟐 × 𝟓 12 Factors 𝟗 × 𝟏𝟎 

 
 

𝟏 × 𝟗𝟎 
𝟐 × 𝟒𝟓 
𝟑 × 𝟑𝟎 
𝟓 × 𝟏𝟖 
𝟔 × 𝟏𝟓 
𝟗 × 𝟏𝟎  

 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟗𝟎𝟐 = 𝟖𝟏𝟎𝟎 √𝟗𝟎 = 𝟑√𝟏𝟎 ≈ 𝟗. 𝟒𝟖𝟕 
  
 
 

𝟗𝟎 𝒉𝒐𝒖𝒓𝒔 = 𝟑
𝟐

𝟑
 𝒅𝒂𝒚𝒔  

𝟗𝟎 𝒅𝒂𝒚𝒔 = 𝟏𝟐
𝟔

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟗𝟎 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟕
𝟏

𝟐
 𝒚𝒆𝒂𝒓𝒔   

Interior angle of a square: 
 

 

 



Number of the Week 
01010100 

𝟖𝟒 

LXXXIV 

𝟐𝟐 × 𝟑 × 𝟕 12 Factors 𝟕 × 𝟏𝟐 

 
 

𝟏 × 𝟖𝟒 
𝟐 × 𝟒𝟐 
𝟑 × 𝟐𝟖 
𝟒 × 𝟐𝟏 
𝟔 × 𝟏𝟒 
𝟕 × 𝟏𝟐  

 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟖𝟒𝟐 = 𝟕𝟎𝟓𝟔 √𝟖𝟒 = 𝟐√𝟐𝟏 ≈ 𝟗. 𝟏𝟔𝟓 
  

𝟖𝟒 𝒉𝒐𝒖𝒓𝒔 = 𝟑
𝟏

𝟐
 𝒅𝒂𝒚𝒔  

𝟖𝟒 𝒅𝒂𝒚𝒔 = 𝟏𝟐 𝒘𝒆𝒆𝒌𝒔  
𝟖𝟒 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟕 𝒚𝒆𝒂𝒓𝒔  
 
𝟖𝟒 is the number of ways 
to choose 3 objects from 9  

One leg of a Pythagorean triangle: 
 

 
 

𝟏𝟑𝟐 + 𝟖𝟒𝟐 = 𝟖𝟓𝟐 



Number of the Week 
01001000 

𝟕𝟐 

LXXII 

𝟐𝟑 × 𝟑𝟐 12 Factors 𝟖 × 𝟗 

 
 

𝟏 × 𝟕𝟐 
𝟐 × 𝟑𝟔 
𝟑 × 𝟐𝟒 
𝟒 × 𝟏𝟖 
𝟔 × 𝟏𝟐 
𝟖 × 𝟗  

 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟕𝟐𝟐 = 𝟓𝟏𝟖𝟒 √𝟕𝟐 = 𝟔√𝟐 ≈ 𝟖. 𝟒𝟖𝟓 
  
 
 
𝟕𝟐 𝒉𝒐𝒖𝒓𝒔 = 𝟑 𝒅𝒂𝒚𝒔  

𝟕𝟐 𝒅𝒂𝒚𝒔 = 𝟏𝟎
𝟐

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟕𝟐 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟔 𝒚𝒆𝒂𝒓𝒔  

Exterior angle of a regular pentagon: 
 

 
 



Number of the Week 
00111100 

𝟔𝟎 

LX 

𝟐𝟐 × 𝟑 × 𝟓 12 Factors 𝟔 × 𝟏𝟎 

 

𝟏 × 𝟔𝟎 
𝟐 × 𝟑𝟎 
𝟑 × 𝟐𝟎 
𝟒 × 𝟏𝟓 
𝟓 × 𝟏𝟐 
𝟔 × 𝟏𝟎  

 
 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟔𝟎𝟐 = 𝟑𝟔𝟎𝟎 √𝟔𝟎 = 𝟐√𝟏𝟓 ≈ 𝟕. 𝟕𝟒𝟔 
  
 
 

𝟔𝟎 𝒉𝒐𝒖𝒓𝒔 = 𝟐
𝟏

𝟐
 𝒅𝒂𝒚𝒔  

𝟔𝟎 𝒅𝒂𝒚𝒔 = 𝟖
𝟒

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟔𝟎 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟓 𝒚𝒆𝒂𝒓𝒔  

Interior angle of an 
equilateral triangle: 

 

 
 
 
  



Number of the Week 
01010000 

𝟖𝟎 

LXXX 

𝟐𝟒 × 𝟓 10 Factors 𝟖 × 𝟏𝟎 

 

𝟏 × 𝟖𝟎 
𝟐 × 𝟒𝟎 
𝟒 × 𝟐𝟎 
𝟓 × 𝟏𝟔 
𝟖 × 𝟏𝟎 

 
 
 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟖𝟎𝟐 = 𝟔𝟒𝟎𝟎 √𝟖𝟎 = 𝟒√𝟓 ≈ 𝟖. 𝟗𝟒𝟒 
  
 
 

𝟖𝟎 𝒉𝒐𝒖𝒓𝒔 = 𝟑
𝟏

𝟑
 𝒅𝒂𝒚𝒔  

𝟖𝟎 𝒅𝒂𝒚𝒔 = 𝟏𝟏
𝟑

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟖𝟎 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟔
𝟐

𝟑
 𝒚𝒆𝒂𝒓𝒔  

One leg of a Pythagorean triangle: 

 

𝟑𝟗𝟐 + 𝟖𝟎𝟐 = 𝟖𝟗𝟐 
 



Number of the Week 
00110000 

𝟒𝟖 

XLVIII 

𝟐𝟒 × 𝟑 10 Factors 𝟔 × 𝟖 

 

𝟏 × 𝟒𝟖 
𝟐 × 𝟐𝟒 
𝟑 × 𝟏𝟔 
𝟒 × 𝟏𝟐 
𝟔 × 𝟖 

 
 
 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟒𝟖𝟐 = 𝟐𝟑𝟎𝟒 √𝟒𝟖 = 𝟒√𝟑 ≈ 𝟔. 𝟗𝟐𝟖 
  

 
 
𝟒𝟖 𝒉𝒐𝒖𝒓𝒔 = 𝟐 𝒅𝒂𝒚𝒔  

𝟒𝟖 𝒅𝒂𝒚𝒔 = 𝟔
𝟔

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟒𝟖 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟒 𝒚𝒆𝒂𝒓𝒔  

One leg of a Pythagorean triangle: 

 

𝟓𝟓𝟐 + 𝟒𝟖𝟐 = 𝟕𝟑𝟐 
 



Number of the Week 
01100100 

𝟏𝟎𝟎 

C 

𝟐𝟐 × 𝟓𝟐 9 Factors 𝟏𝟎 × 𝟏𝟎 

 

𝟏 × 𝟏𝟎𝟎 
𝟐 × 𝟓𝟎 
𝟒 × 𝟐𝟓 
𝟓 × 𝟐𝟎 

𝟏𝟎 × 𝟏𝟎 
 

 
 

As a fraction of 100: 

 

As an angle in degrees: 

 
  

𝟏𝟎𝟎𝟐 = 𝟏𝟎𝟎𝟎𝟎 √𝟏𝟎𝟎 = 𝟏𝟎 
  

 
 

𝟏𝟎𝟎 𝒉𝒐𝒖𝒓𝒔 = 𝟒
𝟏

𝟔
 𝒅𝒂𝒚𝒔  

𝟏𝟎𝟎 𝒅𝒂𝒚𝒔 = 𝟏𝟒
𝟐

𝟕
 𝒘𝒆𝒆𝒌𝒔  

𝟏𝟎𝟎 𝒎𝒐𝒏𝒕𝒉𝒔 = 𝟖
𝟏

𝟑
 𝒚𝒆𝒂𝒓𝒔  

 
𝟏𝟎𝟎 𝒄𝒆𝒏𝒕𝒊𝒎𝒆𝒕𝒓𝒆𝒔 = 𝟏 𝒎𝒆𝒕𝒓𝒆 

 
𝟏𝟎𝟎 𝒑𝒆𝒏𝒄𝒆 = £𝟏 

 
𝟏𝟎𝟎°𝑪 is the boiling point of water 

 
𝟏𝟎𝟎𝒌𝒎 is the altitude of outer space 

 


